N =

2000 = =0l & 2 BHa A

O & AP & & A

A

SN MR
M2 YASS MBON X
CHel: RO ZME B EAY (S5l &2
SH-EH . C(BH) - NRAY - BES Off &F oA gggi; bRz
ME XA 16,026,318 13,112,118 2,914,200
= 10,274,925
Al 2,188,344
2 3,563,049
HASS M8OY X2 12,324,506 10,418,485 1,906,071
= 9,761,045
Al 1,251,389
2 1,312,092
SHIPIEIVEEE NS 11,079,487 9,327,625 1,751,862
= 8,814,740
Al 1,101,842
2 1,162,905
M Z0f 8,375,000 6,987,250 1,387,750
= 6,700,000
Al 837,500
2 837,500
01 YL 8,375,000 6,987,250 1,387,750
=2 6,700,000
Al 837,500
2 837,500
IEEEEESE 8,375,000 6,987,250 1,387,750
OMH S0l 8,375,000
SEIE=)Y 6,799,000,000%! 6,799,000
= 5,439,200
Al 679,900
2 679,900
ON&+ZX 1,576,000, 0002 1,576,000
= 1,260,800
Al 57,600
2 57,600
AZ=x 112,750 114,000 A1,250
= 90,200
Al 11,275
2 11,275
01 YszaZ 112,750 114,000 A1,250




SN M D
M YASS MBON X
o9 BROIEMBRE ALY (5l &2
. _ o ME T =
SN-EHH S (3H) - HEAY - BES Off &F oA il i~ o Hnz2
01 YL = 90,200
Al 11,275
2 11,275
NEEEEESE) 112,750 114,000 A1,250
OMH S0 904,000 *25% 22,600
2 18,080
Al 2,260
2 2,260
CEEEL 84,723,000% 84,723
2 67,778
Al 8,473
2 8,472
CEFET: 247,000 +3% 741
2 593
Al 74
2 74
OA&O0IZBNIR 406, 0002 *1% 406
2 325
Al 40
2 41
CLPNEYEY 500, 0002 +4 2,000
2 1,600
Al 200
2 200
CIEEIbE] 60,0002 * 132 780
2 624
Al 78
2 78
oI 500, 0002 +3% 1,500
2 1,200
Al 150
2 150
204 1,769,062 1,840,626 AT1,564
= 1,415,250
Al 176,906
2 176,906




SN MET D
Hm: YASE MEOE K€
Chl: BOID|EME D RALY
SN EY O (BH) - MRAY - BLS Aol Bl
Gil &t 0
301 getEazg 1,709,062
= 1,367,250
Al 170,906
2 170,906
01 A22HEE=2063 1,709,062
QI ZMEEE =HSH 1,709,062,000& 1,709,062
= 1,367,250
Al 170,906
i 170,906
402 RIZ2HX =0 60,000
= 48,000
Al 6,000
2 6,000
02 CIZ2HCHH AL HI 60,000
OFNHESS 0 (=2l
1,500,0002 <407} 72 60,000
= 48,000
Al 6,000
o 6,000
ME=3=10; 432,562
= 346,050
Al 43,256
= 43,256
301 YBtEAE 432,562
= 346,050
Al 43,256
= 43,256
01 AMIEBEHESGZ3 432,562
QI =MEZZ W30 432,562
ogsg ¢ s 371,482,000& 371,482
= 297,186
Al 37,148
o 37,148
OWIMU (R AE) 109, 000& *270H 29,430
= 23,544
Al 2,943




AN HEXA D
By YASES MUY X
CHel: 2O MBS ALY (sl &
SN HH G (EH) - MBAY - BYS Ak e 2
Ofl &4 4
i 2,943
Oyl 33,000& *250 8,250
= 6,600
Al 825
[ 825
Ost2 3t 45,0003 520 23,400
= 18,720
Al 2,340
i 2,340
HatE =N 58,750
= 47,000
Al 5,875
= 5,875
301 YBtEa=s 58,750
= 47,000
Al 5,875
= 5,875
01 AMIEBEHESG3 58,750
OII=MHEBZE off & 58,750
OF Fg=10 500,000& 5% 2,500
= 2,000
Al 250
o 250
OFS PN I=10 56,250,000& 56,250
= 45,000
Al 5,625
o 5,625
A HE 32N 13,500
= 10,800
Al 1,350
= 1,350
301 YotEaz 13,500
= 10,800
Al 1,350
= 1,350
01 ASIE2EE=63 13,500
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=

(|

H =0z
re b i
Jn
P Ol o

0; >
o V=
= ko
H -5
H -—
S 0
(=]

40

SA - EE S (3H) o . HyS Ao gggf; HRS2

Al 25,680
- 25,680

NASE X 1,245,039 1,090,830 154,209
= 946,305
Al 149,547
o 149,187

=N 965,440 973,550 A8,110
= 746,636
Al 109,582
iy 109,222

101 Q14| 73,500 67,500 6,000
= 58,800
Al 7,350
= 7,350

10 JIZHZ22XNEES 73,500 67,500 6,000
OXEAS X 73,500
oz2z X 21,000& x14H 252 102 73,500
= 58,800
Al 7,350
= 7,350

301 e AS3 1,800 6,276 N4 476
= 1,440
Al 360

10 SAIAHIEAZ 1,800 6,276 N4 476
OAIZIdSEZZ ] 150,000& x12& 1,800
= 1,440
Al 360

307 QI2tolA 181,559 153,794 27,765
= 119,531
Al 31,014
iy 31,014

02 0I2tFAE X 181,559 153,794 27,765
OXNEX&dE 29I 170,759,000 170,759
= 119,531
Al 25,614




AN MHE
X{ ZH -
S =

chel:

- Col(3) - HRAY - BaS Aro e =2
i 25,614
OXNSATEHEH SMUAHMSME=H

900,000& x12& 10,800
Al 5,400
i 5,400

QI2tX =01 ™ 708,581 745,980 A37,399
= 566,865
Al 70,858
= 70,858

QIZ2HCHEH AFS H 708,581 745,980 237,399
ONEIZAY 708,581
OANZE&Y 185,459, 000& 185,459
= 148,367
Al 18,546
fiis 18,546
OAtal H Xtel 523,122,000& 523,122
= 418,498
Al 52,312
fiis 52,312

SASZH 39,485 39,612 A127
= 31,589
Al 3,948
= 3,948

dutE a3 39,485 39,612 N127
= 31,589
Al 3,948
= 3,948

AEHELG S 39,485 39,612 A127
BASIH(HEEHAZ) 39,485,000& 39,485
= 31,589
Al 3,948
i 3,948

B2ER0IAMS 240,114 77,668 162,446
= 168,080
Al 36,017
= 36,017




SN MBI A
M YASE M

Giol: HASE HET (Sl @
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
402 QI2HXE01 ™ 240,114 77,668 162,446
= 168,080
Al 36,017
= 36,017
02 QIZ2HCHH AL HI 240,114 77,668 162,446
OJIAIIHE 2 20| AF (36Y)
240,114,000& 240,114
= 168,080
Al 36,017
o 36,017
M =X SEXNE 1,276,181 979,934 296,247
= 501,118
Al 127,173
= 647,890
FUMHIA AEHH 2= 1,122,497 866,686 255,811
= 482,070
Al 112,834
= 527,593
NN =XNEAM 29 70,000 47,600 22,400
307 glz2told 70,000 35,000 35,000
02 BIZHEANE X 70,000 35,000 35,000
OXGAts=XIE2AM 22l 70,000,000 70,000
FOUMETAAMEA &5 52,679 45,144 7,535
101 eIl 17,863 7,720 10,143
10 JIZtHZ2Z2NSES 17,863 7,720 10,143
OFDAHIA BIteiH =X 8,054
oJl=s 32,000 1H x123 3,936
Osg=+¢ 32,0003 »1H 59 1,888
Ozl 5,000 x1Z 123 615
Oul sl 5,000& x1H x123 615
ONE4g 600
. BHS X 40,0003 x1H ~6& 240
e 20,0003 x3H x6& 360
OZE S Ith| 400,000& *1H *13] 400




SA
X XH .
(=

chel:

AT A 0t
A2l X SN2
FONHI A HEHAH 2=

BSA - MG (B H) - MEBAIY - BAH2 O] AFoH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
OKF=UABIA HREFX ACIUO0IE 9,809
oJl2s 42,3003 x 1 =123 5,203
(@R =3=TE =, 42,3003 x1H x50 2,496
O=&Hl 5,000& *1¥ =123 615
OuWEH| 5,000& x 1123 615
OJIE=Y 480
. BHS Xt 40,0003 x1H«63 240
., =HIH 20,0003 x2H x5 240
OZ & ZItY| 400,000& x1¥ *13] 400
201 LB 23,616 29,224 25,608
01 AtR2t2ldl 21,792 27,400 N5,608
CEEIEA=L] 15,912
OFpi=nsgag 227
28,000 120 A * 12 4,032
O=XAHEM HMZ 3,000,000& 3,000
OF0INHIA DSS DI M=
5,320,000& 5,320
OFei=xaga 4| 2l
30,000& * 131 A 42 J| 1,560
OMHz2sE ¢ 2,000,000& 2,000
o=l 5,880
OFUAHIA HRFX 5,880,000& 5,880
02 =322l 1,824 1,824 0
os32= ¥ HA 1,824
OMEEUE M523 76,000& *2CHx12& 1,824
202 O4Hl 5,700 4,200 1,500
01 =Wodl 5,700 4,200 1,500
O=2 0l 300,000& 199 5,700
203 YRF=L&Y| 5,500 4,000 1,500
03 AIMF=AHRFLEH| 5,500 4,000 1,500
OFQUABIA AIZHFZ 5,500,000& 5,500
MBIASAH 2435 176,080 153,096 22,984
201 LBt 14,620 14,226 394




S ME XD
Hal: ASI=X ZEKR

o9l EOIMHIA HMEHH RS (9l &8
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
01 AtR22lt] 14,620 14,226 394
CHETRS=Y] 10,300
OE20I25) XY byl
3,0009+2,500% 7,500
OFIAHIA SEOHAN M
4,0002 %7005 2,800
oz 4,320
ONHIAXS ez 4,320,0002 4,320
202 Ol 1,500 1,500 0
01 =Lioit] 1,500 1,500 0
CETIT] 300,000 +5% 1,500
203 PRFTH| 5,500 4,000 1,500
038 AMEZAREAY| 5,500 4,000 1,500
ONHIAXS &85 YRz 5,500,0002 5,500
01 YA 136,060 91,240 44,820
10 BAAHIZAS 1,600 1,600 0
ONHIAZH R 3o Ha4g
10,0002 +40% *43] 1,600
12 JIEt2 A 134,460 89,640 44,820
OOIE0H IR0 AHI2Y
15,0002 +36% *2492! 134,460
307 BI2tOIH 18,400 42,130 £23,730
NEEEREET 18,400 18,630 £230
O+ LEH=ANHIL PE2SB(2
2| 2 43) 80,0008 %230 18,400
NEEV W EESERINETEES =) 682,898 586,642 9, 256
2 482,070
Al 100,414
2 100,414
201 Yereoy| 13,470 13,470 0
2 3,470
01 AF=Raelt] 6.470 13,470 A7,000
CHEIRS=E] 6,470
ONHSMNEIA LAY 2|
6.470,0002 6.470
2 6.470




AN HEXA D
M AISI=2X EEXL

tel: =AUMEIA MLHMA 2F (o &
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
03 SHAISHHI 7,000 0 7,000
OXNGE=SXNAMEIA SHAAIY HAI2S
7,000,000& 7,000
= 7,000
307 QI2tolA 669,428 573,172 96,256
= 468,600
Al 100,414
iy 100,414
05 oIzZte&3d 669,428 573,172 96,256
OXN LA AHIA EXFAIYE (HIRHXIS) 669,428
OXNINLSEANH (D] BHEY)
269,428,000 269,428
= 188,600
Al 40,414
= 40,414
OXNEIMLEAIL (I NEREH)
400,000, 000& 400,000
= 280,000
Al 60,000
= 60,000
A EX BREX SAIRLP 22| 24,840 34,204 AN9,364
Al 12,420
o 12,420
301 et AS 24,840 34,204 N9, 364
Al 12,420
iy 12,420
09 ZUIRLILBAZ 24,840 34,204 N9,364
OAMNISXNYREX B2UAZ22RH
24,840,000 24,840
Al 12,420
= 12,420
ZFOIMEI A BHeHg) 116,000 0 116,000
301 et A= 6,000 0 6,000
10 SALAHIBAZ 6,000 0 6,000
OFQUANBIALLEXNAAM L2(EEHFS)
6,000,000& 6,000
307 QIZtolA 110,000 0 110,000
02 QUBAEX 110,000 0 110,000

_11_




SN MEXE D
D A =X SEXE

Chelt FOIMHIA MM 75 (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OF2UAMHIA gEt3 110,000, 000& 110,000
N SAHEE S 139,134 98,698 40,436
= 19,048
Al 14,339
= 105,747
NHASAEH 29 44,078 35,935 8,143
101 el t| 16,780 16,335 445
10 JI2ZHH22sSEs 16,780 16,335 445
O SAHEH 22 16,780
OJl== 42,3003 x1H»212Y 8,968
Osg=¥ 42,3003 x 15 92 3,892
O=&tl 5,000& x1H 212 1,060
Oul &l 5,000& x1¥+212Y 1,060
ONEsg 1,000
. BHS Xt 40,0003 x1Hx10& 400
. &= IS 20,0003 »3E x10& 600
OZE S It 400,000& x 1 x23| 800
201 Lt 10,498 8,200 2,298
01 At 2eld] 9,298 7,000 2,298
O gBt+==24| 6,658
O SAMHEH =237 2,400,000 2,400
OXNEsAt EE2 M&H 1,000, 000& 1,000
OXNASAEH F==I| 22/t
15,0003 62 90
OXNZSMItEEs A28 24
26,4002 105 *12& 3,168
ozd=+¢ 2,400
OXASA 220=s ¢ 1,000,000 1,000
ONASAM2IAAS 319 HNH
70,0002 10 *23| 1,400
(@)Y= 240
OXNASAEEH F==DI 40,0002 «6& 240
02 =294l 1,200 1,200 0
0=z32g=3 % HA 1,200

_12_




S ME XD
Hal: ASI=X ZEKR

CHol: XbRl = AME A B (et9l: &2
_ _ _ Muo
SN -HH - SA(B) - MRAY - BES 0f Ao Sl e HRE2
OXAZAHE Ao
50,000& »2CH«12& 1,200
206 M=l 6,000 5,000 1,000
01 MZHl 6,000 5,000 1,000
ORAEA AT 42l AYET
6,000, 000& 6,000
301 ptEas 10,800 6,400 4,400
10 SAIAHIEAS 1,800 1,900 A100
ONRAZAT HOIL 2 9 &A
100, 0002 x2H 22 %23 800
OHINAZAXIUE S &4
100,000 & «5H 2 +13] 1,000
12 JIEEAS 9,000 4,500 4,500
ORABA SROIKER) BESSA
10,0002 * 15 x603| 9,000
A& SAHE! H = 15,000 15,000 0
201 BH2IH] 6,000 6,000 0
03 &HAr2ZHI 6,000 6,000 0
OXAZ AN 3] 6,000
OHEZIH 100,000& 124 1,200
OxHY s 100, 00024 100
OAlMEA SHE 600, 000& 600
O+ & &4FAH0IA 400, 000& 400
o222 M 2,000,000& 2,000
OCtutE | 1,000, 000& 1,000
OgdA2te 2, o=z 300,000 300
O==&Xx 202 & A Y 400,000 400
301 ptEasg 9,000 9,000 0
12 JIEEAR 9,000 9,000 0
ONRZA DIL2ANHE ST Al4 9,000
O100AI2 04 BEX 20,0002 1502 3,000
O200A12F Ol & &S Xt 40,0003 =150 6,000
A2 SAMEESRA(Z ) 35,644 33,397 2,247
= 15,236
= 20,408

_13_




SA
X XH .
(=

chel:

MET 2T
NS E
X2l ALEH A Bt

Moo B .S (3 H) -

HIEAY - B A=

22
J2

20
B
2

101 o124 35,644 33,397 2,247
2 15,236
2 20,408
PN EEEES 35,644 33,397 2,247
OXFZA ROUOIEY 20| 35,644
ONESA DS 1,405,009 * 12 » 12 16,860
2 7,215
2 9,645
ONEBA 42 23 0/8
1,086,000% 12 * 122 13,032
= 5,565
2 7,467
OMBIEBE(UH2EE)
29,892,0008! *6. 74% 2,015
=2 860
2 1,155
SEENEEICEE
29,892,000%! /122 *1.5 3,737
2 1,596
2 2,141
NASANHSSNHESARNEEE 11,912 6,366 5,546
=2 3,812
2 8,100
201 Yure o] 11,912 6,366 5,546
=2 3,812
2 8,100
02 BZ22H| 11,912 6,366 5,546
023222 2 MAl 11,912
ORFEAN 2BE 2,0008 *5,956% 11,912
=2 3,812
2 8. 100
Zewl 2y 32,500 8,000 24,500
Al 14,339
2 18,161
201 Yereoy| 6,000 6,000 0
Al 1,333
2 4,667




SN MBI
HE: AS|=X S8
Sl KR EALE S 5

_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES &hoh Ofl At ot Hws2
02 ZZ2Y| 6,000 6,000 0
Xt e Bl 6,000
OZCWIAIL XHE 6,000, 0002 6,000
Al 1,333
2 4,667
405 XboarE S| 26,500 2,000 24,500
Al 13,006
2 13,494
01 KAUSEFSH] 26,500 2,000 24,500
S TP =T 2,500, 0002 2,500
Al 2,500
OZCSHI HYPY(LSET)
24,000,002 24,000
Al 10,506
2 13,494
#eixt 7S 14,550 14,550 0
HRIAL X FHHl % B2AX OfHIX & 14,550 14,550 0
01 YerEaz 14,550 14,550 0
IIEEEEEEE 14,550 14,550 0
824 X7 8 01 20,0008 %2.5% * 122 600
AL JIHER L HBY ABE
800,000 *5% 4,000
AL ZHH S 4,450,000% 4,450
AU AETDE 1,100,000 x5! 5,500
DS =W Y oy 211,524 183,559 27,965
= 12,762
Al 74,556
2 124,206
nEBHs L AFE 211,524 183,559 27,965
= 12,762
Al 74,556
2 124,206
NP R 25,524 9,919 15,605
=2 12,762
Al 6,381
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SN MBI D
HMH: 18 27 U O
el DREBMS L AFEZ (sl &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 175
©OF=1=1l 1,680
OZT22 ¥ AU 22
7,000 *1H 20« 123 1,680
Al 629
= 1,051
202 O4Hl 2,000 2,000 0
Al 749
iy 1,251
01 ZUWdH 2,000 2,000 0
O&LHH Yl 2,000,000& 2,000
Al 749
o 1,251
206 M =4I 600 600 0
Al 225
o 375
01 MHEHl 600 600 0
OZT2EANY HYED? L HHPY
600, 000& 600
Al 225
= 375
HAE MNE EZZENY 29 4,000 0 4,000
301 e AZ 4,000 0 4,000
12 JIEIEAZ 4,000 0 4,000
O¥AW NFAET2IY 29
50,000& x20H x2& *23| 4,000
=Jt & 22| & K& 335,300 408,640 NT73,340
BEHAANY 243 335,300 408,640 AT73,340
BECH ¥ 201824 A& 335,300 318,640 16,660
201 B2 AH| 500 0 500
01 AtR22id] 500 0 500
OYtEH| 500
OoB=z9Y 22 H& 300,000& 300
OB=dA gt 200,000& 200
301 dE8AZ 274,400 263,840 10,560
01 A E&EE56= 235,500 224,940 10,560
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7,500
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2,400

20,000

20,000

60,400
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11,000

2,000
3,300
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6,600
6,600
5,500
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4,400
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3,000

| *950H
145024

=

=l
o

150,000
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S MBI
B WESAAY (METAD
Chol: ol iy (ME IR 1) Crol & 2
H-E . HyS sk Soe B RS2
04 BEMA2™E 4,200 4,200 0
OFRNSIEYRF 350,000& 123 4,200
ZH (MRS 68,385 86,303 217,918
=&l 68,385 86,303 217,918
201 BH2EH] 13,665 17,183 23,518
01 AR 2el 13,665 17,183 A3,518
ogs+E 13,665
OS24 13,665,000& 13,665
202 OdHl 54,720 69,120 214,400
01 3L 54,720 69, 120 A 14,400
OO0l 54,720,000& 54,720
Meegs (M X&) 1,803,202 0 1,803,202
Al 735,226
i 1,067,976
HEHN XIS (MEX 1,803,202 0 1,803,202
Al 735,226
= 1,067,976
gaclsH 2 1,803,202 0 1,803,202
Al 735,226
= 1,067,976
309 2J1¥& 1,808,202 0 1,803,202
Al 735,226
i 1,067,976
02 SAt-3 ,803,202 0 1,803,202
OAlE22E 1,803,202,000& ,803,202
Al 735,226
s ,067,976
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